1400
00000 1,000000 (subroutine).
axb
l.aOb0O0OO.
2.00
3. 00000
4. FFT (Fast Fourier Transformation)
SLL GR1, 1
Shift Left Logical
SLL GR1, 1
Shift Right Logical

200

SLA (Shift Left Arithmetic)
SRA (Shift Right Arithmetic)
OO0 btOOoOO.
gb10000 20.
002000 0 220.
003000 0 2%0.

000000 100000000 1000000
ooooooo.
1000000 200000000 10200000
goooooo.

200 Yp 2" 000 1000000

ji:ak2k+1:: 22§:ak2k
k=0 k=0

O0.GR10O 100000O.
a = GR1
ax10=ax (2)+2)=ax23+ax2

LD GR2, GR1 ; GR2 <-- GR1
SLA GR1, 3
SLA GR2, 1 ; 0000000 (typo)

ADDA GR1,GR2 ; GR1 <-- GR1+GR2

300

Ubd.Gr1 0 13000.
ax13=ax(25+22+1).

LD GR2,GR1
LD GR3,GR1
SLA GR1,3
SLA GR2,2
ADDA GR1,GR2
ADDA GR1,GR3

gooooooo

CALLO0O. CALLOOOO0O00O0O00000.
RET OO0 (return)

OO000D0000%asird COOODODOO.
GR1O 100000D0O0DODODOO.

TEST START
LAD GR1,3
CALL TEN

(GR1 ODDO

LAD GR1,4
CALL TEN
GR1 OOO

LAD GR1,5
CALL TEN
GR1 00O ;; OO0O0OOOOOO. )
TEN (PUSH 0,GR2)

LD GR2,GR1

SLA GR1,3

SLA GR2,1

ADDA GR1,GR2

(POP GR2)

RET

END

b1l 0O0oooboobooooo.ooooboan.
O0O0. TENOOO GR2O000D0O0COOOO.
PUSH, POPOO0OOOOO GR2O0ODO.



400 000000000 (bo)oooooooooo.
ooooooo. obooooooooo.ooo.

500
1.

LD GR2, GR1 ; GR2 <- GR1
SLA GR1,4 ; GR1 O 274 O
SLA GR2,1 ; GR2 O 2 0
ADDA GR1,GR2

GR1 < GR1 x 2% + GR1 x 2!

24 4+2'=18.0.180.
2. 0.

600

3.100000.

100 = 26 + 25 4 22

MH PUSH 0, GR2
PUSH 0, GR3
LD GR2, GR1
LD GR3, GR1
SLA GR1,6
SLA GR2,5
SLA GR3,2
ADDA GR1,GR2
ADDA GR1,GR3
POP GR3
POP GR2
RET

ooooooobooon.

TEST START
LAD GR1,1
CALL MH
RET
END

4. 0000.
1. 000b0oooooo.
2.000000000000C00D0.
3. 000000,000000000.



